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x
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eax

a
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ax

ln a
, a > 
 , a �= � |os}∫
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√
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a
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∫
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a
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a
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a
cos ax , a �= 
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cos ax dx =
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 |pqo}∫
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secx dx = ln | secx+ tan x| |ppt}∫
secx dx = ln | tan(

x

�
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�
)| |ppr}∫

cscx dx = ln | cscx− cot x| |ppv}∫
cscx dx = ln | tan x

�
| |pps}∫
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x

�
− �

�a
sin�ax |ppu}∫
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x

�
+
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sin�ax |ppn}∫

sec� x dx = tan x |ppm}∫
csc� x dx = − cot x |ppo}∫
�

sin� x
dx = − cot x |ptq}∫
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cos� x
dx = tan x |ptp}∫

sinn x dx = − sinn−� x cos x

n
+
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∫
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n
+
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∫
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tann x dx =
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−
∫

tann−� x dx , n �= � |ptv}∫
cotn x dx = − cotn−� x

n− �
−

∫
cotn−� x dx , n �= � |pts}∫

secn x dx =
secn−� x tanx

n− �
+
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∫
secn−� x dx , n �= �|ptu}∫

cscn x dx = − cscn−� x cot x
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+
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arcsin
x

a
dx = x arcsin

x

a
+

√
a� − x� , a > 
 |ptm}∫

arccos
x

a
dx = x arccos

x

a
−

√
a� − x� , a > 
 |pto}∫

arctan
x

a
dx = x arctan

x

a
− a ln

√
x� + a� , a > 
 |prq}∫

arccot
x

a
dx = x arccot

x

a
+ a ln

√
x� + a� |prp}∫

arcsec
x

a
dx = x arcsec

x

a
− a ln
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√
x� − a�
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x

a
dx = x arccsc
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a
+ a ln
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sinh x dx = cosh x |prv}∫
cosh x dx = sinhx |prs}∫
tanhx dx = ln | cosh x| |pru}∫
coth x dx = ln | sinhx| |prn}∫
sechx dx = arctan(sinh x) |prm}∫
cschx dx = ln
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ln
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sinh−� x
a
dx = x sinh−� x

a
−

√
x� + a� , a ≥ 
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sinh� x
dx = − coth x |pvs}∫
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cosh� x
dx = tanhx |pvu}∫

sinmx sinnxdx =
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�(m− n)
− sin(m+ n)x
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cosmx cosnxdx =
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�(m+ n)
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∫
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